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Soit la relation —5y — 2z +4 = 0.
Exprimer y en fonction de x.
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correction

-5y —2xr+4=0
On isole y dans I'un des membres de |'égalité.
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correction

-5y —2xr+4=0
On isole y dans I'un des membres de |'égalité.
—bhy=2x—4
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correction

-5y —2xr+4=0
On isole y dans I'un des membres de |'égalité.
—bhy=2x—4

_2x—4
¥="5
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correction

-5y —2xr+4=0
On isole y dans I'un des membres de |'égalité.
—bhy=2x—4
2z -4
V=55
2z 4

V=5
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correction

-5y —2xr+4=0
On isole y dans I'un des membres de |'égalité.
—bhy=2x—4
2z -4
V=55
2z 4
V=57 5
2 n 4
V=75 s
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